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MENSURATION 2D (AREA) WORK SHEET  
 
BOOK SOURCE SPLIT UP  

 
 

FORMULAE (#j;jpuq;fs;) :  
 
S.

No 
Name of the 
figure (ngah;) 

Figure 
(glk;) 

Area (Sq. Units) 
gug;gsT (r.myF) 

Perimetre (P) 
Rw;wsT 

1. Triangle 
Kf;Nfhzk; 

 

1

2
 x b x h AB + BC + CA 

2. 

Right Angle 
triangle 
nrq;Nfhz 
Kf;Nfhzk; 

 

1

2
 x b x h 

(base + height + 
hypotenuse) 

3. 

Equilateral 
triangle 
rkgf;f 

Kf;Nfhzk;  

3

4
 a2 where 

( 3  = 1.732) 

AB + BC + CA= 3a; 
Altitude ,  

h = 
3

2
a units 

TITLE STD NEW 
OLD 

TERM Exercise 

 
 
 
Area 

6 OLD 3 3.1 to 3.4  
6 NEW 3 3.1, 3.2  

7 OLD 2 2.1 

7 NEW 2, 1 (2.1 to 2.4) both 

8 OLD 1 2.1, 2.2 

8 NEW 1 2.1 to 2.4  
9 OLD 3 4.1  

R.S.AGGARWAL  
(2020 Edition) 
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4. 

Isosceles 
triangle 

,U rkgf;f 
Kf;Nfhzk;  

h x 2 2a h  2a + 2 2 2a h  

5. 

Scalene 
triangle 

(mrkgf;f 
Kf;Nfhzk;)  

( )( )( )s s a s b s c    

Where s = 
2

a b c 
 

AB + BC + CA 
= (a + b + c) 

6. 
Quadrilateral 

(ehw;fuk;) 

 

1

2
 x d x (h1 + h2) AB + BC + CD + DA 

7. Parallelogram 
(,izfuk;) 

 

b x h 2 x (a + b) 

8. Rectangle 
(nrt;tfk;) 

 

l x b 2 x (l + b) 

9. 
Trapezium 
(rhptfk;) 

 

1

2
 x h x (a +b) 

AB + BC + CD 
+ DA 

10. 

Rhombus 
(rha;rJuk;) 

 

1

2
 x d1 x d2 

where d1, d2 
are diagonals 
(%iytpl;lk;) 

4a 

11. 

Square 
(rJuk;) 

 

a2 4a 

 
12. Sector 

(tl;lNfhzg; 
gFjp)  
 

 

2

360
R





 2

360
R





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Area of Triangle Kf;Nfhzj;jpd; gug;G  

If 1 1 2 2( , ), ( , )A x y B x y and 3 3( , )C x y  are the vertices of a ABC  then the area of the 

ABC is 1 2 3 2 3 1 3 1 2

1
{ ( ) ( ) ( )}

2
x y y x y y x y y      sq.units 

 Square (%iytpl;lk;) (d) (Diagonal length) = 2a  

 Perimeter of a sector = l + 2R  

 Length of the arc of each of the sectors = 1
2 r

n
  

 
Area of each of the sectors = 21 r

n


 

 The perimeter of a semi-circle  

   
P = l + 2r units  

   =  r + 2r 
   = ( +2)r units  

 The perimeter of a circular quadrant  

  
2 2 2

2 2

r
P l r r r

  
      

 
units 

 
   

    
 

Concept Summary:  
 

 The central angle of a circle is 360°. 
 

 Perimeter of a semicircle =  2 r   units.  

 

 Area of a semicircle = 
2

2

r
 sq. units  

 

 The central angle of a semicircle is 180°.  
 

 Perimeter of a quadrant = 2
2

r
 
  

 
units.  

 Area of a quadrant = 
2

4

r
sq. units.  

 

 The central angle of a quadrant is 90°.  
 

 Perimeter of a combined figure is length of its boundary. 
 

 A polygon is a closed plane figure formed by 'n' line segments 
 

 Regular polygons are polygons in which all the sides and angles are equal.  
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 Irregular polygons are combination of plane figures.  
 

 Area of the circle = 2r  
 

 Circumference of the circle = 2 r  
 

 No. of revolutions = tanCovered dis ce

Perimeter
= fle;j njhiyT

Rw; wsT
 

 

Mensuration 2D- Area Worksheet 
 

1. One of the sides and the corresponding height of the parallelogram are 12 
m and 8 m respectively.  Find the area of the parallelogram.  
mbg;gf;fk; 12 kP kw;Wk; cauk; 8 kP msTfs; nfhz;l ,izfuj;jpd; 
gug;gsT fhz;f.  
a. 88 m2   b. 96 m2   c. 100 m2  d. 90 m2 

 

2. The base of the parallelogram is thrice its height. If the area is 192 sq. cm, 
find its base. 
Xh; ,izfuj;jpd; mbg;gf;fkhdJ mjd; cauj;ijg; Nghy %d;W 
klq;fhfTk; mjd; gug;gsT 192 r.nr.kP MfTk; ,Ug;gpd;> mbg;gf;fj;ij 
fhz;f.  
a. 16 cm  b. 17 cm  c. 36 cm  d. 24 cm 

 

3. A ground is in the shape of parallelogram.  The height of the parallelogram 
is 14 metres and the corresponding base is 8 metres longer than its height.  
Find the cost of levelling the ground at the rate of Rs.15 per sq. m. 
Xh; ,izfu tbtpyhd ikjhdj;jpd; cauk; 14 kP. NkYk; mjd; 
mbg;gf;fk;> cauj;ij tpl 8 kP $Ljy; vdpy;> ikjhdj;ijr; rkg;gLj;j 
xU r.kP.f;F ì 15 tPjk; vt;tsT nryT MFk;.  
a. Rs. 4620  b. Rs. 4600  c. Rs. 4640  d. Rs.4680 

 

4. If the area of the rhombus is 60 sq. cm and one of the diagonals is 8 cm, find 
the length of the other diagonal. 
xU rha;rJuj;jpd; gug;gsT 60 r.nr.kP kw;Wk; mjd; xU %iytpl;lk; 8 
nr.kP vdpy;> kw;nwhU %iytpl;lj;ijf; fhz;f.  
a. 16 cm  b. 20 cm  c. 15 cm  d. 10 cm 

 

5. The floor of an office building consists of 200 rhombus shaped tiles and 
each of its length of the diagonals are 40 cm and 25 cm. Find the total cost of 
polishing the floor at Rs.45 per sq. m. 
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Xh; mYtyff; fl;blj; jiuapy; 200 rha;rJu tbtpyhd XLfs; 
gjpf;fg;gl;Ls;sd. XLfspd; %iytpl;lq;fspd; msTfs; 40 nr.kP kw;Wk; 25 
nr.kP vdpy;> jiuia nkU$l;lr; rJukPl;lUf;F ì 45 tPjk; nkhj;jr; 
nryitf; fhz;f.  

a. Rs.450  b. Rs.500  c. Rs.400  d. Rs.350 
 

6. A sweet is in the shape of rhombus whose diagonals are given as 4 cm and 
5 cm. The surface of the sweet should be covered by an aluminium foil. 
Find the cost of aluminium foil used for 400 such sweets at the rate of Rs.7 
per 100 sq. cm. 
Xh; ,dpg;G tif rha;rJu tbtpy; cs;sJ. mjd; %iy tpl;lq;fs; 
KiwNa> 4 nr.kP kw;Wk; 5 nr.kP. ,dpg;gpd; Nkw;gug;G KOtJk; nky;ypa 
mYkpdpaj; jfl;lhy; %lg;gl Ntz;Lk;. 100 r.nr.kPf;F ì 7 tPjk; nkhj;jk; 
400 ,dpg;Gfis mYkpdpaj; jfl;lhy; %l vt;tsT nrythFk;?  
a. Rs.240  b. Rs.300  c. Rs.280  d. Rs.250 

 

7. The area of a trapezium is 828 sq. cm.  If the lengths of its parallel sides are 
19.6 cm and 16.4 cm, find the distance between them. 
gug;gsT 828 r.nr.kP ck;> ,izg;gf;f msTfs; 19.6 nr.kP> 16.4 nr.kP ck; 
nfhz;l rhptfj;jpd; cauj;ij fhz;f.  
a. 46 cm  b. 42 cm  c. 40 cm  d. 48 cm 

 

8. A ground is in the form of isosceles trapezium with parallel sides 
measuring 42 m and 36 m long. The distance between the parallel sides is 
30 m. Find the cost of levelling it at the rate of Rs.135 per sq. m. 
XH; ,Urkgf;fr; rhptfk; tbtpy; cs;s ikjhdj;jpd; ,izg; gf;fq;fs; 
42kP kw;Wk; 36 kP. ,izg;gf;fq;fSf;F ,ilNaAs;s njhiyT (cauk;) 30 
kP vdpy;> me;j ikjhdj;ijr; rkg;gLj;j xU r.kPf;F ì 135 tPjk; vt;tsT 
nryT MFk;?  
a. Rs.157950 b. Rs.156950 c. Rs.150950  d. Rs.160000 
 

9. If the circumference of the circle is 132 m.  Then calculate diameter (Take   

 
  

 
 ).  

xU tl;lj;jpd; Rw;wsT 132 kP vdpy;> mjd; tpl;lk; fhz;f. (
22

7
   vd;f).  

a. 42 m  b. 84 m  c. 44 m  d. 38 m 
 

10. A farmer wants to fence his circular poultry farm with barbed wire whose 
radius is 420 m.  The cost of fencing is Rs.12 per metre.  He has Rs.30,000 
with him.  How much more amounts will be needed to fence his 

farm?(Here,  
  

 
). 

xU tptrhap> 420 kP MuKila tl;l tbtpy; mike;jpUf;Fk; Nfhopg; 
gz;iziar; Rw;wp> Ks;Ntyp mikf;f tpUk;Gfpwhh;. mjw;F xU kPl;lUf;F 
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ì 12 tPjk; nrythFk;. mthplk; ì 30>000 cs;sJ vdpy;> mtuJ gz;izf;F 

Ks;Ntyp mikf;f ,d;Dk; vt;tsT gzk; Njitg;gLk;? (,q;F> 
22

7
  ) 

a. Rs.1680  b. Rs.1780  c. Rs.1500  d. Rs.1600 
 

11. A gardener walks around a circular park of distance 154 m.  If he wants to 
level the park at the rate of Rs. 25 per sq. m, how much amount will he 

need? (use   
  

 
 ) 

154 kP Rw;wsT cs;s xU tl;l tbtg; G+q;fhitr; Rw;wp xU Njhl;lf;fhuh; 
elf;fpwhh;. mjidr; nrg;gdplr; rJu kPl;lUf;F ì 25 tPjk; MFk; nkhj;j 

nryT ahJ? (
22

7
   vd;f)  

a. Rs.47162.50 b. Rs.47762.50 c. Rs.46762.50  d. Rs.49162.50 
  
12. The radius of a circular flower garden is 21 m. A circular path of 14 m wide 

is laid around the garden. Find the area of the circular path. 
xU tl;l tbtg; G+e;Njhl;lj;jpd; Muk; 21 kP. me;jj; Njhl;lj;ijr; Rw;wp> 14 
kP mfyk; cs;s tl;l eilghij cs;sJ vdpy;> me;j tl;lg;ghijapd; 
gug;gsT fhz;f.  
a. 2468 m2  b. 2464 m2  c. 2400 m2  d. 2450 m2 

 
13. Three identical coins, each of diameter 6 cm are placed as shown in the 

diagram. Find the area of the shaded region between the coins. (  = 3.14) ( 

√  =1.732) 
xt;nthd;Wk; 6 nr.kP tpl;lKs;s %d;W xj;j ehzaq;fs; glj;jpy; 
fhl;bAs;sthW itf;fg;gl;Ls;sd. ehzaq;fSf;F ,ilapy; milgl;Ls;s 

epoyplg;gl;l gFjpapd; gug;gsitf; fhz;f. . (  = 3.14) ( √  =1.732) 
a. 1.46 cm2  b. 2.16 cm2  c. 3.75 cm2  d. 2.74 cm2 

 
 

14. Find the cost of fencing a square flower garden of side 50 m at the rate of 
Rs.10 per metre. 
rJu tbtg; G+e;Njhl;lj;jpd; gf;fk; 50 kP. G+e;Njhl;lj;ijr; Rw;wp kPl;lUf;F ì 
10 tPjk; NtypNghl MFk; nryitf; fhz;f.  
a. Rs.2100  b. Rs.2000  c. Rs.2500  d. Rs.3000 
 

15. Find the area of the following figure: 
fPo;f;fhZk; glj;jpd; gug;gsitf; fhz;f.  
a. 69.5 cm2  b. 68.5 cm2  c. 68 cm2  d. 67.5 cm2 
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16. A plot of land is in the form of a quadrilateral, where one of its diagonals is 
200 m long. The two vertices on either side of this diagonals are 60 m and 
50 m away from the diagonal. What is the area of the plot of land ? 
xU tPl;L kidahdJ ehw;futbtpy; cs;sJ. mjd; xU %iytpl;lj;jpd; 
ePsk; 200 kP. ehw;fuj;jpd; ,U vjph; cr;rpfs; %iytpl;lj;jpypUe;J 60 kP> 50 
kP njhiytpy; cs;sd vdpy; ehw;fuj;jpd; gug;gsT ahJ?  
a. 1100 m2  b. 1150 m2  c. 11000 m2  d. 11500 m2 
 

17. The circumference of a circular field is 44 m. A cow is tethered to a peg at 
the centre of the field. If the cow can graze the entire field, find the length 
of the rope used to tie the cow. 
xU tay; ntspapd; Rw;wsT 44 kP. tay; ntspapd; ikaj;jpy; 
mbf;fg;gl;Ls;s Kidapy; Jk;Gf;fapW nfhz;L xU gRkhL 
fl;lg;gl;Ls;sJ. tay;ntsp KOtJk; gRkhL Nka KbAkhdhy; gRkhL 
fl;lg;gl;Ls;s Jk;Gf; fapw;wpd; ePsnkd;d?  
a. 6 m   b. 6.5 m  c. 7 m  d. 7.3 m 
 

18. A silver wire when bent in the form of a square encloses an area of 121 sq. 
cm.  If the same wire is bent in the form of a circle. Find the area of the 
circle. 
xU nts;spf; fk;gp tisf;fg;gl;L rJukhf khw;Wk; NghJ> mjdhy; 
milgLk; gFjpapd; gug;gsT 121 r.nr.kP mNj nts;spf;fk;gp tl;lkhf 
tisf;fg;gLfpwJ vdpy; tl;lj;jpd; gug;gsT vd;d?  
a. 150 cm2  b. 154 cm2  c. 163 cm2  d. 167 cm2 
 

19. A uniform circular path of width 2 m is laid out side a circular park of 
radius 50 m. Find the cost of levelling the path at the rate of Rs.5 per m2 

(Take   = 3.14) 
50 kP Mukhff; nfhz;l tl;l tbtg; G+q;fhtpd; ntspg;Gwj;jpy; 2 kP 
mfyj;jpy; rkr;rPuhd tl;lg;ghij mikf;fg;gLfpwJ. mg;ghijiar; rkd; 
nra;a xU rJu kPl;lUf;F &. 5 tPjk; MFk; nryitf; fhz;f. (   = 3.14) 
a. Rs.3210.50  b. Rs.3102.80   
c. Rs.3025.50  d. Rs.3202.80 
 

20. The diameter of a semicircular grass plot is 14 m.  Find the cost of fencing 
the plot at Rs.10 per metre. 
miu tl;l tbtpyhd Gy;ntsp xd;wpd; tpl;lk; 14 kP. mjw;Fr; Rw;W Ntyp 
mikf;f xU kPl;lUf;F ì 10 tPjk; nryT Mfpd;wJ vdpy; nkhj;j 
nryitf; fhz;f.  
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a. Rs.260  b. Rs.330  c. Rs.360  d. Rs.410 
 

21. The radius of a circle is 21 cm. Find the perimeter and area of a quadrant of 
the circle. 
xU tl;lj;jpd; Muk; 21 nr.kP vdpy;> mjd; fhy; tl;lj;jpd; Rw;wsitAk;> 
gug;gsitAk; fhz;f.  
a. 73 cm, 356.5 cm2  b. 75 cm, 346.75 cm2   
c. 75 cm, 346.5 cm2  d. 74 cm, 346.5 cm2 

 
22. If the sides of a triangle are 3 cm, 4 cm and 5 cm, then the area is 

xU Kf;Nfhzj;jpd; gf;f msTfs; 3 nr.kP> 4 nr.kP kw;Wk; 5 nr.kP vdpy; 
mjd; gug;gsT   
a. 3 cm2   b. 6 cm2   c. 9 cm2   d. 12 cm2 
 

23. The perimeter of an equilateral triangle is 30 cm. The area is 
xU rkgf;f Kf;Nfhzj;jpd; Rw;wsT 30 nr.kP vdpy;> mjd; gug;gsT  
a. 10 3  cm2  b. 12 3 cm2  c. 15 3  cm2  d.  25 3  cm2 
 

 

24. The area of a rectangular shaped photo is 820 sq. cm. and its width is 20 
cm. What is its length? Also find its perimeter. 
xU nrt;tf tbtpyhd Gifg;glk; xd;wpd; gug;gsT 820 rJu nr.kP  kw;Wk; 
mfyk; 20 nr.kP vdpy; mjd; ePsk; vd;d? NkYk; mjDila Rw;wsitf; 
fhz;f.  
a. 41 cm, 122 cm     b. 42 cm, 124 cm  
c. 38 cm, 120 cm     d. 40 cm, 120 cm  
 

25. The side of a square is 10 cm. If its side is tripled, then by how many times 
will its perimeter increase?  
xU rJuj;jpd; gf;fk; 10 nr.kP mjDila gf;fk; %d;W klq;fhFk; NghJ> 
Rw;wsT vj;jid klq;fhf mjpfhpf;Fk;?  
a. 2 times   b. 4 times   c. 6 times   d. 3 times 
 

26. The sunshade of a window is in the form of isosceles trapezium whose 
parallel sides are 81 cm and 64 cm and the distance between them is 6 cm. 
Find the cost of painting the surface at the rate of Rs.2 per sq. cm. 

xU fjpnuhsp kiwg;ghd; (Sunshade) ,Urkgf;fr; rhptf tbtpy; cs;sJ. 
mjd; ,izg;gf;f msTfs; KiwNa 81 nr.kP kw;Wk; 64 nr.kP mjd; 
cauk; 6 nr.kP vdpy;> mg;gug;ig tz;zkpl xU r.nr.kP.f;F ì 2 tPjk; 
nryitf; fhz;f.  

a. Rs.770  b. Rs.570  c. Rs.870  d. Rs.700 
  Solution: 
  Parallel sides, a = 81 cm, b = 64 cm 
    Height, h = 6 cm 
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       Area of trapezium = 
1

( )
2

h a b  sq. units 

             = 
1

6 (81 64)
2
    = 435 cm2 

Cost of painting 1 cm2 = Rs. 2 
       Cost of painting 435 cm2 = 4352 = Rs. 870 

 
27. A verandah of width 3 m is constructed along the outside of a room of 

length 9 m and width 7 m. Find the cost of cementing the floor of the 

verandah at the rate of Rs.15 per sq. m. 
9 kP ePsKk;> 7 kP mfyKk; cs;s Xh; miwf;F ntspNa> 3 kP rPuhd 
mfyKs;s xU jho;thuk; (Verandah) cs;sJ. me;jj; jho;thug; gFjpf;F 
r.kP-fF ì 15 tPjk; rpnkz;l; G+r MFk; nryitf; fhz;f.  
a. Rs.1370  b. Rs.1400  c. Rs.1980  d. Rs.1340 
 Solution:           

     
  Area of the room = l b  sq. units 

     = 97 = 63 m2 
Area of verandah along  

 with room = (9 + 3 + 3) (7 + 3 + 3) 
  = 15 13 = 195 m2 

Area of the verandah = 195 – 63 = 132 m2 
Cost of cementing 1 m2 = Rs. 15 

       Cost of cementing 132 m2 = 13215 = Rs. 1980  
 

28. A cow is tethered with a rope of length 35 m at the centre of the 
rectangular field of length 76 m and breadth 60 m. Find the area of the land 
that the cow cannot graze? 
76 kP ePsKk;> 60 kP mfyKk; cs;s xU nrt;tf tbtg; Gy;ntspapd; 
ikaj;jpy;> xU khL 35 kP ePsKs;s fapw;why; fl;lg;gl;Ls;sJ. me;j khL 
NkaKbahj epyg;gug;gsit mstpLf.  
a. 700 m2  b. 710 m2  c. 720 m2  d. 750 m2 

 Solution: 
  Area of the rectangular 
       field = l b  sq. units 

       = 7660 = 4560 m2 
    Length of rope, r = 35 m 
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   Area of land that cow 
    can graze = 2r  sq. units 

   = 222
35

7
  = 3850 m2 

     Area of land that cow  
        cannot graze = 4560 – 3850 = 710 m2    

 
29. Find the central angle of a palm leaf fan (sector) of radius 10.5 cm and 

whose perimeter is 43 cm. (   
  

 
  

Muk; 10.5 nr.kP kw;Wk; Rw;wsT 43 nr.kP msTfs; nfhz;l xU 

gidNahiy tprpwpapd; ikaf;Nfhzk;; fhz;f. (   
  

 
  

a. 110°  b. 120°  c. 60°   d. 55° 

     Solution: 

    
  Given, r = 10.5 cm and P = 43 cm 
    P = 2r + l 
            43 = 2(10.5) + l 
      l = 22 cm 

 Now, length of the arc, l = 2
360

r


  units 

           22 = 2
360




22
10.5

7
   

         = 120  
 

30. An advertisement board is in the form of an isosceles triangle with 
perimeter 36m and each of the equal sides are 13 m. Find the cost of 

painting it at ₹ 17.50 per square metre. 
,U rkgf;f Kf;Nfhz tbtpYs;s xU tpsk;gug; gyifapd; Rw;wsT 36 kP 
kw;Wk; mjd; xt;nthU rkgf;fj;jpd; ePsk; 13 kP MFk;. mjw;F tz;zk; 
G+r xU rJu kPl;lUf;F ì 17.50 tPjk; MFk; nryitf; fhz;f.  
a. 1150   b. 1050  c. 1250   d. 1450  
Solution: 



 

11 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

   
 Equal sides of the triangle = 13 m 
       Perimeter, P = 36 m 
                   Third side = 36 – (13 +13) = 10 m 

          h = 2 213 5  = 144  = 12 m 

   Area of the triangular board = 
1

2
b h   sq. units 

           = 
1

10 12
2
   = 60 m2 

Cost of painting 1 sq. m   = Rs. 17.50 
       Cost of painting 60 sq. m = 60 17.50 = Rs. 1050 

 

MENSURATION 2D (AREA) ANSWER KEY  

1 2 3 4 5 6 7 8 9 10 

B D A C A C A A A A 

11 12 13 14 15 16 17 18 19 20 

A B A B D C C B D C 

21 22 23 24 25 26 27 28 29 30 

C B D A D C C B B B 

 

 


